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FRAEMRHEEE 2 A=

(BEAT: TF)
B E THEAA RITAF T AR
5 A
BRIV A 12,661 12,661 0
e Bt (D) 12,661 12,661 0
5o b JEU
BT L JH 5,140 5,140 0
Fe_ LR ET (2) 5,140 5,140 0
e BRIz (3)= (1)-(2) 7,521 7,521 0
B 5B B OV S FL
PR 50 50 0
AR 290 312 A 22
SCEHNEREN 220 - 220
SCELTHORE - 220 A 220
BRFE 2 R O E 2 (4) 560 582 A 22
RIS (5)=(3)-(4) 6,961 6,939 22
== ZAN'PN
= TFLE 2 2 0
AT (6) 2 2 0
RIS (71)=(5)+(6) 6,963 6,941 22
FRIE NS FHERNEE (8) - - -
Bia A4 EARF]ZE (9)=(7)-(8) 6,963 6,941 22
ENFL, FERBL L V2R (10) - - -
YR 45 (11)=(9)-(10) 6,963 6,941 22




